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QUESTION 1

Click the Exhibit button. 

ISP1 has created an L3VPN to connect CE1 and CE2 The PE-CE routing protocol is OSPF Referring to the exhibit,
which technology will allow CE1 to receive Type 1 and Type 2 LSAs from CE2? 

A. OSPF sham links 

B. RIB groups 

C. OSPF domain IDs 

D. OSPF virtual links 

Correct Answer: D 

 

QUESTION 2

You are configuring a Layer 2 circuit. Which two configuration steps are required? (Choose two.) 

A. Configure LDP on the interfaces between PE and CE routers. 

B. Configure circuit or translational cross-connects between PE routers and between PE and P routers. 

C. Configure circuit or translational cross-connects between PE and CE routers. 

D. Configure LDP on the interfaces between PE routers and between PE and P routers. 

Correct Answer: CD 

 

QUESTION 3

You are asked to deploy VPLS in your network as a new service for several customers, and you must identify the
configuration and provisioning requirementsfor your customer.In this scenario, which two statements are correct?
(Choose two.) 

A. CE interfaces facing the service provider must be Ethernet interfaces. 
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B. VLAN IDs defined on CE interfaces must be the same on both ends unless otherwise negotiated 

C. PE interfaces facing the core must have VPLS encapsulation enabled. 

D. CE interfaces facing the service provider must be Layer 3 interfaces. 

Correct Answer: AB 

 

QUESTION 4

To reduce the size of OSPF Area 100 you configure the area with the no summaries parameter After committing this
configuration change you notice that anOSPF router in a remote area is no longer receiving Type 5 LSAs from an ASBR
in Area 100. 

Which statement is true in this scenario? 

A. The ASBR in Area 100 generates Type 5 LSAs, and they are blocked by the ABR. 

B. The ASBR in Area 100 generates Type 5 LSAs, and a virtual link is required for transport to other areas. 

C. The ASBR in Area 100 generates Type 5 LSAs. and they are transported to Type 7 LSAs. 

D. The ASBR in Area 100 generates Type 5 LSAs. and places them in its own database. 

Correct Answer: A 

 

QUESTION 5

-- Exhibit ? 
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-- Exhibit -Click the Exhibit button. 

The exhibit displays an IS-IS topology and an IS-IS configuration for R3 and R4. R4 cannot reach any external
destinations or addresses located in Area 49.1111. 

How would you ensure that R4 can reach external destinations and addresses located in area 49.1111? 

A. Configure an export policy on R3 that leaks all IS-IS routes from Level 2 to Level 1. 

B. Configure R3\\'s authentication key to match R4\\'s authentication key. 

C. Remove the overload statement on R4. 

D. Remove the ignore-attached-bit statement on R4. 

Correct Answer: D 
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